
Toutes les Opérations Avec des Octaux (B)

Calculez chaque réponse.

70368
+ 46768

44728
× 338

70138
× 458

2077578|778

1551648|378 143768
− 60078

15578
+ 66658

1743608|708

535748|138 36328
× 278

41358
+ 54108

120328
− 67648

6328
× 678

237548|128 44548
× 448

47558
× 228

106248
− 50258

6564528|728 101248
− 13278

155248|148
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Toutes les Opérations Avec des Octaux (B) Réponses

Calculez chaque réponse.

70368
+ 46768
137348

44728
× 338

1744368

70138
× 458

4036278

2077578|778
21218

1551648|378
34148

143768
− 60078

63678

15578
+ 66658
104448

1743608|708
21628

535748|138
37648

36328
× 278

1273268

41358
+ 54108
115458

120328
− 67648

30468

6328
× 678
540268

237548|128
17768

44548
× 448

2450608

47558
× 228

1312528

106248
− 50258

35778

6564528|728
73318

101248
− 13278

65758

155248|148
11078
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